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Part A :General Intelligence & Reasoning
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Part A :General Intelligence & Reasoning

From the given alternative words, select the word which
cannot be formed using the letters of the given word.

ot Rt & & ag uee gfRT S e o e

& 38T T T Y AT ST S HeelT |
VENTURE

A)RENT
C) TURN

1)

B) TRUE
D)RATE
2 L)

) .If. + means 'x', '~ means '+ ', 'x' means '—' and '+ ' means
*+' then the value of the given equation is :

A I wF, — waE e, x A R

IR I+ A PR TR G F A
T g

9+8+8-4x6="

A)11 B)65

C)68 D)36

Question Nos.3 to 4
YT §E4T 3 & A T®
Directions / I3 A series is given with one term

issing. Out of the four alternatives, choose the
lternative that will complete the series.

o g RATé fFaH v 9g g | B v arx
PRyl # & ag RFeT gAT 57 HHH F WA |

3) ACE,GIK,? ,SUW, YAC
AMOQ B)MPQ
C)MOP D) MNP
4 2,510,17,26,2
At ot 39an
A)37 B)35
-
C)38 D)33
5)  Find the missing number from the given responses.
fRrw a7 Risedt & oo ST AT BT |
4 8 2
3 2 2
5 8 2
60 128 68
A)l3 9) 17
C)I15 D)19

Yo\')'%m:ﬁ st snereord @dl A

ARKARI I<2LP

_AR2017--4254610

W & : YO T v whafRy

A man facing south turns to his left and walk lm
turns to his right and walk 15m, again he turns to’ his | :
and walk Sm and then he tumns to his left and walk 15?::l
In which direction he is facing now? '

U AT GIaToT R T R 7T 6 a7 &, T8 Iy
T HZ F 10m TelaT & TR AT ST 73 T 15m
Torel &, AT 9 3799 970 73 X Sm Toar & i i
I8 Y ST HS Y 15m T & | 39 §AT I8 e
oo & 75 i W §?

A) South
ZfEyor

C)North

< 3R

6)

B) West
aftes

D) East
Ecl

Find the number of triangles in the adjoining figure.

ForaeT 3Ty 3 SIS <hr TEAT AT HITIAT

7)

Question Figure / Y& JTgfa

B)20

914
Question Nos.8 fo 11
YT 5Ear 8 & 11 9%

Directions / f32%r Select the related word / letters / ~
number from the given alternatives.

R v faweql & & GFla g/ HERT/ G&AT F

A)16
C)18

gl
8) 8:512:9:7
A)728 (B) 729
C)781 D)792
9) ADIP:DGLS: BEIQ:?
A)FINU B)EJQU
9 EHMT D)CGLS
10) AUTHOR :PEN : DOCTOR:
AGF : O :: B :
A)HOSPITAL B) DISPENSARY
eI Hrwerer
C) STETHOSCOPE D) WARD
BRI ars -
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A)DRAOB : BROAp R2017_“_42§4610 ST % : AT AT U adharen
C)CHART : TRA CH B) SINGLE ) 14) From the given answer figures, select the one in which the
D)wo : ELGNIS question figure is hidden / embedded.
One or tWo Statemengg MEN OMaA & 77& e it & & 39 3ca Hhd A AT
Conclusions / : € gj orgd g e Ak
the statement QSEETI_E“U“S, I anﬁhflen followeg by tw Q - mm
e, : 0 uestion Figure / ¥¥

€ven if;
from commonly known face;: !‘t; it seemg toa\fe 10 consider

the given conclusi ou ar, at varj 3
drawn from the giv1:;1 2 t; ; aSSumptiones t:aiecjde Whi;ln :;ef r
; ement, Ind; efini
Statement: No man is , dOnk:a;ngﬁ?te Vi a:‘s“‘:g be |
+ Rahy] jg ' L
Answer Figures | T srpRmt

Conclusions: am
I Rahul is not a donkey an,

1. All men are not Rahy|
=

T 8 S R E, s g e 1] : )- 57\7

/Wﬁlm"ﬁm“”f?lmﬁm —

T & o gaaen A) B) ) D)
¥ e vl gar 2 ' 15) If a mirror is placed on the line MN, then which of the
| 3ot ek AT answer figures is the right image of the given figure ?

§ % R a0 aden & & Sw Bitw w @ 2% e T Y MN YT R T@r ST & &1 71§ 36

ey o | AeT e S e ¥ | s STt 4 & - T e S A

See 7 Taene. FRT | e g

A Fe M AT AT | BT & Question Figure / T 3

g & | M

| Cib 0 _1_>

| TGS T TET &~ =

I, T eafa B A6 Bl R

A) Only Conclusion I B) Neither Conclusion Answer Figures / St SRt
follow. nor Conclusion 1 follow. N x = =
Faa sy 1 el o o fswd 1 AR A P - = “——
g gr 11 foort ¥ | || s || v LT

C) Only Conclusion II g C-Omiﬁ;?o? » B) C) D)
ohlow ﬁﬁ&concmsm 11 fderr Question Nos.16 to 18
e frsad 1l L= v FEAT 16 § 18 AF
fovaerar ¥ | &l Directions / fA&r: Find the odd number/ letters /

of certain system. words from the given alternatives.

[ved equation on | | 2w F7w m##ﬁwm/m:r/ ez giAv
/

13) Some equations are solved on the basis

Find out the correct answer or

that basis.
Wmaﬁ;ﬁrqmﬁra;gnmqwgﬂwﬂ"?lﬂ o

T 3cak gia ¢
YR g A 0 T g3 > s
9x6x2=269,8x6X 5=568, 5 X 4% 1=: i,9Klwl\,mmas B)KIL
A)201 B)14 eI el

D) 451 C) TONNES D) QUINTALS
C)415 i

YO\ Fenfl ot stereorll @ a‘%:- YO\ 'é;ra::ﬁ it ststenrll i@ a’f‘%"

ARKARI I<2LP ARKARI [<2LP



, ]
nloaded from www.Qmaths. i swmr s Thufs
Part A :Generai Intelligence & ReaDlooﬂY?xl ARLULS Ay ; ‘E\‘\
g 22) IfNAME is coded as MZLD how wilj CLAIM b,
17) e ]
;U af& NAME & MZLD m#ﬁmmﬁa’rcmmﬁ
AHKNQ B)DEG] e =l 3 forar smean « S (
- 3
C) YZBE D) QRTW A)BKZII B)BKYHL
18) C)BKZHL D)B
Pl_ ) BKZH]|
A)154 B) 119 23) Which one of the following diagramg
- ) relationship among; presents the
C)8s D) 51 Fruits, Mango, Banana
18) A piece of paper is folded and cut as shown below in the fFtaRe & & #lear s TR & gy
question figures, From the given answer figures, indicate e T e o
how it wil] appear when opened. Fra
mwaﬁ%ﬁﬁmmmﬁm A

P T Wewet 35 e g o 3 3Ty T
Rears 2o 00| (©)|I0)0 @
Question Figure / weg gt
A) B) C) o)
‘_’;’ D B 24) A word is represented by only one set of numbers as given
. ol :t}— ::a-"

in any one of the alternatives, The sets of numbers given
in the alternatives are represented by two classes of
alphabets as in two matrices given below. The columns
Answer Figures / i and rows of Matrix | are numbered from 0 to 4 and that
of Matrix II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its
column, e.g., 'A’' can be represented by 00,44, etc., and P’
can be represented by 56,79 etc. Similarly, you have to
identify the set for the word ZEST.

) il Ueh 316, el Ueh HEAT-THE SR a2iar arar &, shar
20) Which one of the given responses would be a meanin )
order of the following? %ﬁmﬁ#%@ﬁw#mwa et & R
. Family 2. Community 3. Member T m‘W mﬁawm zafT TTE
4. Locality 5. Country

TR e Rerw aTw &Y 3mreggt # &) mewg 1 & we sk
et et & O lar-ar frere oY Ry g oreet @7 IR HET 0 A4 YIS AR e 1 59T

I o e & 2 HTCHET A T T Y Tge) ITHT AT iR e
(L‘Iﬁﬁ'l'{' 2. R 3. 9exg TOFH HEAT CaART AT ST Hehall ¥ | 3ET60T & AT,
4. Algeer  S.&ur 'A' @Y 00,44, 311 SART GRATAT ST el § TP Y
A)3,1245 B)3,1,2,5,4 56,79, 31 ST AT ST HehaTl & | 3T o¥E & I
C)3.1,4.2,5 D)3,1,4,5.2 o7 U eTeg; ZEST & T 69 g 1 qgereet §]
<~
21) The age of father is twice that of the elder son, After ten Matrix -1 M“ﬂ"_g
years, the age of father will be three times that of the g -1 3 53" 6'5.’. 1K)
younger son. If the difference of ages of the two sons is 0]1]2 g T 5[K|[P|1|L|M
I5 years, the age of the father is ? 0/AIRIB W| Z | M| G
1|T|(H|S[E|R 6|X TTE (X [P
Rar $r g a3 TGN E | g as e Rar iy FRIE[H g 1k FILIW
: S[DIT L
a?tg?‘#ﬁg;ﬁamﬁiaﬁaﬁgﬂﬂsﬂgﬁls 3 FTBIO[R[A] [OINIPIXIZ
T T 3 & A ReaT r 3 vt 3 | B
A) 70 years B) S5 years AJEIL 15, 5 D)98, 13,33, 04
70 af 55 af C) 89, 31, 30,01
C) 60 years D) 50 years } ’ |
W, 60 T% 50 =% —“""fj,. ‘
N, —
N‘mzf‘l')‘:-la:‘n-
= S 5% 1 *‘ Ml 3o A ol oo et &
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mswer figure will complere g R2017--4254
25) ueSﬂO“ figure? Pattern in the
: ﬂﬂﬁﬁfﬁ%mm*wﬁmwmmq
Q“eshon Figure 19 gl
— O\\am#ﬁ o shaenr gl a’f\
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PartB: Numerical Aptitude
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PartB : Numerical Agtltude

3 months, Q invests
months in a bus
much pro

76825 for 2
iness. If the

79100 for
fit should Q

d R 28190 for 5
Z 4158, how

100, @ 2 FE & AT

e | A
et AT

26) P invests
months an
total profit amounts to

get?

ﬁsﬁﬂmﬁmmﬁ:ﬁv@
76825 3IRR 5 7TE & fAT T8190
wwﬂuﬂmss%a‘roaﬁrﬁmw
aifge?

A)T 346.50
C)% 682.50

B)Z 693
D)% 1386

A contractor has the target of completing a work in 40

1
days. He employed 20 persons who completed ( [4) of

the work in 10 days and left. The number of persons_he
has to employ to finish the remaining part as per target 18:

Waﬂm'{a:rmmﬁa#mwmﬁ%[wﬁ
20wﬁaﬁﬁmwmﬁa’iﬁwﬁﬂﬁ%

mq@rmaﬁrmaﬁmwﬁaﬂﬁaﬁﬂ?
Waﬁmﬁwmﬁmwﬁ

27)

T I AT G197
A)20 B)40
C)30 D) 10

28) The average of three numbers of which greatest is 16 is
12. If the smallest is half of the greatest , the remaining
number is:
iro7 a3t T T Ty wE W 16 8, A 12%
aﬁmmﬁmaﬁrm‘aﬁﬁﬁwmw
grefr?
5),12 B)14
C)8 D) 10

29) A person covers a certain distance in 6 hours, if travels at

40 Km/ hour. If he has to cover the same distance in 4
hours, then his speed must be:

ofs 8 g 40 Rraeet afder Hr afa & amr
FTA § o 56 &l 97 6 B A 7 T ¥ | A S A
& 4 5 F et & ol Sy ey Rttt gt R

W & : HeATeH ey

A —

30) By sclling a coat for Y630, a shopkeeper gains 5%, ;
the cost price of the coat ? gains 5%. Fing

U GHIAGR Pt T 630 F Uah HIT T4 W 5% F7 arsy
21T & | T HT AT Hed AT HIiTT |

B)T 625

D)% 700

A)Z 650
€)% 600
P

31) Two varieties of sugar are mixed together in a certaj
ratio. The cost of the mixture per Kg is %0.50 less tha?l
that of the superior ‘and ¥ 0.75 more than the inferior
variety. The ratio in which the superior and inferior
varieties of sugar have been mixed is:

et 7 eF RpeaT @ T 31gara # ue ary e fmr
ST & AT 9f Kg @mTd 34 ife el iy
aTeTa & 20.50 @ & 3R afear D Hr aerd @075
Hforw ¥ | 3T @fe Hr e ik afar e i de

Faver g 3t PR 76 7 Y
_A)2:3 B)5:1 /g;
C)5:2 D)3:2 {é
)

32) P,QandR can do a piece of work in 60 days , 100 days
and 80 days respectively. They together work to finish the
work and receive T 2256.Then P will get?

P, Q 31K R faelt ahrey by a2l 60 o, 100 f&=1 3R 80
ﬁﬁﬁwmﬁamaﬁwmimm
1A S & 3N T 2256 SO Y €, AT P e T

9Ted gier ?
A)T 960 B)ZT 576
C)R 564 D)% 752

A box contains one rupee, fifty-paise and twenty-five
paise coins. The total number of coins are 378. The ratio
of values of the above coins is 13 : 11 : 7. The number of

twenty-five paise coins was:

e it 3w W, S 3 25 4 & R
Pyt i T T 378 & | SR ot & Aol
Wls:nﬂmm—cﬁmﬁ%ﬁqﬁﬂw
e 4T 2
A)132
C)210

33)

B)78
D) 168

ce of a radio was T255 when 15% discount

34) The Selling pri
price of the radio was 7

was allowed. Then the marked

A) 50 Km / hour B) 80 Km / hour
50 TR Sy sher 80 Rralt wfey ey o Y i R A 15% TE & S 3235 o,
C);glf;ma;rh:; . 9)60Km/hour Yl a 3ifRer e F A é
; e 60 R ufY wer A)Z 400 B)T 300 (0,5 -La.,
C)Z 350 D)% 275 %
::%-2062112371(2 —re
‘ ; —— pP.T.0
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B ARZO: ’Mﬂ%& L3 to 40 =
35) The unit's digit of the number 6256 - 4256 jq . : Fp—
AT 6758 - 425 T T I T bt
—_— » The pie- diagram shows the
Al B)4 Ipoats incurred on the printing of a book by a
cy D)7 oy ds. Study the pie-diagram

36) Ram's income is ¥100 more than that of Shyam. If the
average income of Ram and Shyam is Y850, then Ram's
income is:

o 1 3T T Y I W X100 FfOw | Afc A
3l oo 1 Hraa 3 X850 ¥ T Y 3 Rrae
&

T 900 B) 800
C)X 850 D)X 475

37) n a college, /gt of the girls and 1] gth of the boys took

art in a social camp. The total number of students in the
college took part in the camp is :

Wﬁmﬁ%ﬂgﬁ?ﬁaﬁﬂ/aaﬁ#w
amﬁaﬁﬁﬁtﬁmﬁmmmﬁﬁﬁaaﬁmﬁ

o e & ser fam? G
_—o _ .
A) 13 B).Z gec b 39) Ifthe expenditure incurred on the printing under head A 18
under head

80 o #5000/-. Then the sum of expenditure incurred

C)4 D)13 Band D is:

s 40 Iar
" 0 afe; A 9 & 3refle ASUTH 25000/~ @1 < T

38) Each side of a squarc is increased by 10 %. The %,HTQﬁﬁBaﬂTDé?mﬂﬂ@i‘rﬂﬂ%T@ﬂﬂiﬂ?TW

percentage increase of its area is: ETUL,
uaﬁa:‘raﬁrqﬁﬁaara’rlo%aamm%a’fﬁ A 5780 B)Z 7850
S 3 et wfereret R Erem?
C)Z 8750 D)X 8570
A)20 B)25 <
40) The two expenditures, which together will form an angle
yl P Aj :?52.5 n.,( of 1080 at the centre are :
. A AL - 2 ey PR g 8 1080 T PIOT FATCN?
/-) AA&D B)D&E
“,hm . \ C)A&E D)B&E
< atil anarenrll fg -
O}A RK ,AGRI I f"ﬂ H /{141) A two wheeler depreciates at 20 % of its value every year.
/ 'I=LP » If present value of the same be Y90000, its depreciated

value would be 36864 after:
b T U T AT A€ 20% Hed g & S & | R

3T TIAT Hed 90000 § T IHHT
e g
336864 fahcaY I are; gemr 2 S

A)3 yea
Baﬁrs B)g;:ars
C)4 years
o D)5 years
" Say
A= ¢ = '
. -
—] ﬂ
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o o Ty s o esoosfi 121 RS AFKAHIEd olp.cOM
N T e p

)



p—

: rical Aptitude
part B : Nume
Pant™ . ——

43) The price of a bicycle is marked by a trader at ¥ 1000. He

44) The price of clectricity has been increased by 25%. If a

45) A dealer marks his goods 20 % above cost price. He then

46) The radius of a sphere is doubled. The percentage of

42) A sum was doubled with 121/2 % rate of simple interest,
per annum. Then time taken for that sum is:

5 afdr 121/2 %aﬁrmﬁﬁmmwwﬂ

mmw@-&:mmmm?
A) 10 years /TS B)8 years /¥
3)121years/a'§ D)g ! years /a¥
- 2
2

sold the bicycle allowing successive discounts of 20%,
10% and 5%. Thus the trader gained 14% then the cost
price of bicycle (in rupees) is:

o faraT o |rs el &1 7 21000 31f%a frar sk
3T 9T 20%, 10% 3T 5% N FAF ge o 3939
fRraT | 3% ST 3 Tashel o1 14% T oITST AT |

AT T ST e fehetell (92 #) {2
A) 790 B) 600
C)510 D) 560

person wants to keep the expenditure same, then the
percentage reduction in use of electricity should be :

faser frfma & 25% Arafggs d | s A afFa

T 3T & TG UIEaT § Aol FsAa A 38 | 49)

TrceT aferRra HHT et 81efT 2
A)19 B)20
C)21 D)18

allows some discount on it and makes a profit of 8 %. The
rate of discount is:

Uk fashdT 39! AT W AR #ed W 20% H0F
A Afra T | N ag SR Fo e dard Ak
8% ST I3 AT & | TT T & FIT A9l

A)6% B) 10% 50)
VA
C)4% D) 12%

increase in its surface area is?

e Tieren i BT I A A ST | 39 IS 8
H g Fr ufcea F=am g

A) 100 B)400
C)75 D) 300
s

48)

Downloaded from www.Qmaths.in

The of two
its diagonal than the other is?

aﬂ%ﬁaﬁﬁmm%wmﬁmﬁ
AT &, BT T 31egarer Ry g

A)3:2

Cyl: 1

A man travels 600 Km by traj t 80 |
by ship at 30 Km/hour,y o e s

300 Km by aeroplane at 4
Km/hour and 300 Km by car at 60 Km/hour. Wha? is ;gg

average speed(Km/hour) for the entire distance ?

U S8 ¢of gan 80 freifier sy ser frafy

600-FRelFe, STerer & 30 foriisex wfarerer r afy

;(%ﬁm’lma,ﬁﬂmmm fShelteieT sfceer
A 500 freiaiey HR SR ganr 60 Breaex

SRt Ry 2 300 Rt |50

TTAT A 3HRY IR 71 Rt (Reeiretier vy wen)
g 2

Squares one having double

|
|
B)2:1 q
D)3:1 !

A)63 B)ga7 o
7 ‘,\\Sébp‘b '
Clse7 D)sg7 LB
27 : 27 xv

A man retired from his service at the age of 60. He served

for 3/ 5" years of his retirement age. He joined his job at
the age of :

T ST 60 a¥ i 3 & AaTiiged 537 | 36 H=n
Jaragied g F 35 a§ Jar A | FE

Aty fFe g 7 ¥F d

A)20 years B) 18 years
209% 18 3%

C) 24 years D) 36 years
243 36 a8

A man purchased 120 reams of paper at ¥ 80 per ream. He
spent T 280 on transportation, paid octroi at the rate of ‘}0
paise per ream and paid ¥ 72 to a porter. In order to gain
8%, he must sell each ream of paper for :

s cated & T 80 Ui e & egx I 120 RA FES
eT | 3T TS TR T 280 W T 40 H wiey Rav
o g 31T 1 AR el T 72 fow | 39 8% A
1197 ST FeY & Fore sfey Ry T et wad &
ST BT ?

.,ﬁ' s 8)3 90 B)Z 85
Ay VS 1%4 C)T 89 D)% 87.5
A \x’{ V:
> A xBP04
Daily ‘- ?IBMI'I' | N, o
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51) This sponge is not able to absorbing water

52)

A) This sponge is B) No error
C)not able to D)absorbing water.

I am thinking 1 will go to the market later this
afternoon.

*nh***m,** T— U I "ML .
- . - : 1d call an honest man,doesn
art C :Genera) English 59) Heis not what you wou

he? .

: B)you would call an hones
i hat
Directions : Sg;eSﬂon Nos.51 to 60 A)He isnot W ik
y & part of the sente
fces ' D) No error
gi?:bﬁgigg ,:: Saarre; Correct. Find out wh fZThag é:’:ve c)'doesnt he? )
corresponding to the ek anq blacken the circle o not been attending English classes for one
sentence is fre appropriate correct option 60) He has
cones:gn’;‘ng? fn:vm error, blacken the circle L week. —
o "No Ei jon i ngli
Sheet. Iror” option in the Answer A)He hads'nn; e
ttendi
- : D) No error

C) for one week

stion Nos.61 to 70
Sggteenws given with blank to be filled
word(s). Four alternatives are

' st
ch question. Choose the mos _
;gggggfvizczeﬁ;tiﬁnatgfe out of the four and indicate it

by blackening the corresponding circle in the

Directions - =€
in with appropriaté

. Answer Sheet.
AL am thinking A 1) Si she is a teacher of language, on¢ would not
. . 6 ince
C) later this afternoon D) I will go to the market ) expect her to be guilty of 2 ;
: t
53) [ am too much pleased to know that you have topped A) solecism B) bombas
the list. C)schism D) stanchion
have topped the li :
A) to know that B) you have topped the list 62) Anna is not popular. She has friends.
C)No error lyl am too much pleased
A)alittle B)a few
54) Have you been doing what has been asks of you? - D) little
A)Have you B)been daing 63) Sally parked and got the car quickly.
C) what has been asks of D) No error
you? 6) out of B)on
: . i D T
55) We rejoiced at his being promoted. C)in ) ove
A)bei . B) No error @ __ shecan't drive, Anita has bought a car.
eing pro: :
C) We rejoiced D) at his }\) Since B) Even though g
56) Kindly submit your documents to the clerk. C) Whether or not D)Even if
65) You will have to face some practical probl h
B)No error P problems when
A)to the clerk. B) bt you start this plan.
ts D)Kindly subm! -
Bl iimes . A) prosecuting B) proscribing
57) Itisamost beautiful painting in the gallery- C) prescribing D)executing
)1t is a most EpREEEE 66) They were worried about a new cult which
C) beautiful painting D)in the gallery- many followers.
. . A) must ini .
58) Love for ours environment i enough to protect C) must be gaining B) were gaining
was gaini .
nature. t ) vvas gaining D)is gaining
ironmen
A)No error Ajonts Fxi 67) The actor died when his car turned
C)is enough to protect D) Love for ?
nature. A)turtle .
B) tortoise
C)across
”, D) tiger
I /
N-2062/12371(10) 9 7O
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68) A man is known the company he keeps- ) Allin a mess. \
A)of B) by A) disturbing B)disarr
. anged
i C)negligence . 8
9 fo Ay D) dlSlracting
69) He must the loatiz: 78) A number of people listening ¢, B
Cert or lectu
re,
A)repeal glrepay A) group E)_au dience
C)repeat 9) receipt C)tribe D) spectator
70) The convict was Monday. : 7 Question NoS.79 to 83
_____onaMonday Directions : A sentence or 8 part of the sepfensg ;
A) hanging E’ hanged undeﬂ{ned. Below gre given altematives to the o
underiined part which may Improve the sentgnceg
C)hang D) hung Choose the correct alternative. In case no '
improvement is needed choose ‘No Impro
Question Nos.71 to 73 ' provamant.
Directions : Out of the four alternatives, choose the 79) How long I shall stay 15 doubtful.
one which best expresses the meaning opposite to
the given word. e e A) I can stay B)I will stay
: to st D)No im
71) Authentic C) I want to stay D) provement
80) Even at the peak of her success, Kalpana Chawla did not
A) foke B) honest forget her home or her duty towards other human, this is
C) frank D) futile evident from the fact that she distributed education of
i girls in India.
72) Methodical | Pb - Com [SSCHEYUUrY) Ky she vcmbribaita B)she conibutedgis
education of girls. education.
A) orderly B) flurry ) )
C)No improvement. D) she contributed to the
C)random D)crazy education of girls.
73) Polite 81) Every person was not fitted for everything.
A_’) rude B) rough A)is not fit at B) No improvement
C) tough D)rash C) was not fit at !3) is not fit for
Question Nos.74 to ?8 82) The doctor scribbled his prescription which I could not
Directions : Out of the four alternatives, choose the ——
one which can most appropriately substitute the S—
given word(s) or sentence. A) make over B) make up
o C)make for D) No improvement
74) In a primitive or uncivilized state.
' 83) Neither parties deserves our help.
A)rural @,savage
C)village D) olden A)No improvement B) parties deserved
C) party deserves D) parties deserve
*  75) Happening every year. C)party )p
) Question Nos.84 to 86
A) annually B) routine Directions : Out of the four alternatives, choose the
C) timely D) season one which Weanfng of the given
word.
76) One who believes in God.
; 84) Stationery
A)pilgrim B) believer 3
iti i ter accessories
C) theist D) worshipper A) WHiiHg Aoessaries B) CompTi®
- C)Moving D) Fixed
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. 94) All and sund o
A) Iregul : un were asked t ;
) egulanty B) Repugnant immediately. -e. : \0 leave the village
C) Admirabl '
) € D) Uncommon A)some people E) all the people
86) Innocent 1 - Call the adults and elderly D)all the adults
A) Guilt g 1 95) Joe can be a loose canon sometimes.
Cj Offence D) Guiltless A) (t)lr;ii l\:{ﬁ; acts without B) t{)&mﬁ; speaks without
Questi ‘
Directions : Fo i NOs._§7 to 92 9 one who acts crazy. D) one who is
S Four words are given, out of whi i
one word is correctl C ) ich only unpredictable.
ol y spelt. Find the correctly spelt Question Nos.96 fo 1
; e uestion Nos.96 to 100
Directions : Read the following passage carefully

87)

? )municiple B) muneciple-

C) munecipal D) municipal
88)

Iy journal B)jornal

C)jomale D)jurnale
89)

9 license B) liscense

C)lisense D) licanse
90)

A)harrass ?)haraSs

C)harras D) haraas
91)

A) saperate B) separetc

9 separate D) seperate
92)

A) exhilarate B) exhelerate

) exhilerate D) exelerate

Question Nos.93 to 95

Directions : Four alternatives are given for the

Idiom / Phrase underlined in the sentence. Choose
the alternative which best expresses the meaning Of
the Idiom / Phrase.

93) The presentation bY the group at the meeting Passes

and choose the most appropriate answer to each
question ouf of the four alternatives.

Passage

At times there was something inhuman about Mr. Rogers,
the Headmaster. His formidable chin fitted out in the
most formidable way, and he seemed to be always
frowning at the world ifi general. At the assembly he was
like an inspecting officer in the army; he surveyed the
gathered innocents with his crinkled eyes, and then began
his list of moming rebukes. Any hapless offender, for the
most venial offence, would be commanded to appear
before his presence in front of the gathered ranks, and
would then be subjected to a tirade of abuse that would
leave him trembling or even in tears. Mr. Rogers was
ruthless and cruel in public. "A dehydrated old sadist”
was how Mr. Jones, the chemistry master described him.
The extraordinary thing was that in private he could
be magnanimous and gentle. Any bo_yﬂgﬁs_rejﬂyjn
trouble would receive @ s athetic hearing, and went

out feeling that the burden had been hg .

96) What best describes Mr Rogers at the schoo

assembly?
#) ruthless and cruel B)a sensitive army officer
' C)a formidable teacher D)a genial person

97) The staff considered Mr Rogers to be 5

A)an intimidating person B)a person t0 be idolized
£)aperson without any D)a gentle and
scruples understanding person

98) "in amost intimidating way" means.

A)in a very fowl way B)in a very helpless way

C) in an extremely intimate 3) in an extremely
manner frightening manner

99) Another word for 'magnanimous' is:

muster. N Byrigh anded
; enero i
A)achieves to impress: B) meets required standards- } g g
N C) magnificient D) arrogant
C) does not meet the D) fails to impress-
required standards. il .\/.-j
\
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100) What happened to boys who visited him in private ?

A) They came out trembling B) They looked even more
and in tears. worried than before.

C) They echoed the Tht?y-seemed relieved of
sentiments of the staff their troubles.
members.
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E_aJ'_tD_:GM% 105) Which of tl;e following does not belong to physical
environment?

101) In earth atmosphere, which of the

decreases with height? following continuously

ratd & ¥ e wreey sifow sofator @
g 87

qedt & argHSA &, AR 7 4 Rt 5. " A)Lithosphere B) Atmosphere
& AT FH AT Lh et #5e RS
A) Wind velocity B) Tem (.;:) Hemisphere D) Hydrosphere
perature :
qae e 2 - ey SELER)
C)Pressure D) Humidity 106) An example of a solution of liquid in solid is:
oW o) < e #F e i TeI T SETERT T &7
102) Which state in India has the largest coastline? 5) _;;Iﬂ}'( B) rubber
R 7 TohE T i dexaEr g o &2 A
C) foam D) smoke
A) Andhra Pradesh 9) Guijrat absr i
Y weRr TSR
4 i f the following is not correctly matched?
C) Tamil Nadu D) Maharashtra _107) Which one 0
)Hﬁﬂﬂfs )W < petatRa & & B W A g B g2
A)Iron-ore - Kudremukh  B)Copper - Khetri

The Crop Development Programme of the Government of
India covers which of the following groups of commercial

crops ?

RS TR & e fAe| FE FA & I
fRfET & § B affSas wadl &1 3958

T 87

‘/103)

A) Tea, Cotton and Rubber B() Jute, Tea and Coffee
C) Cotton, Jute and D) Tea, Coffee and Spices
gprona a7y, i AT F@

FIE, g AR T

104) Under the Constitution of India who are the ultimate
sovereign ?
STl & Rt & acrdiel O A8 e €7
A) President of India. B) Indian People.
-
HRE & qrogufer SR STl
C) Prime Minister of India. D) All elected leaders of
HRAT & Tu=AEY India.
sRa & e et
aar

TO\ “densfl st stercorft @dl A W

ARKARI <2LP

C)Manganese - Koraput D) Coal - Singreni

108) Which was the instrument that was played by Ustad
Bismillah Khan?

seae RfEHeaE @ i &1 aed S Ly
A) Sitar B) Shehnai
far Y e
C) Santoor D) Flute
qQ argl
109) Loss of water in plants in the form of liquid is kn(.)wn as:
ﬁtﬁﬁaﬁ%mﬁwﬂﬁmﬁfﬁmﬂﬁh
A) Osmosis " B)Imbibition
T faare
C) Transpiration D) Guttation
STt fredl Bl
110) Which memory is both static and non-volatile ?
Fher-air Ay T 3R feeR gl e & ?
A)RAM B) CACHE
C)ROM D)BIOS

TO\ “densfl st stercorft @dl A W

ARKARI <2LP
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d NITI 116) The aim of the A“t}’Odaya PrramBIE i —

The Modi Government at the Centre has forme

111)
AYOG by replacing which one of the following? JeOew FrER
FT T
A% TER & g A FeAtar@a § & FE 3T R w7
. 8 B) Eliminating urb
%mwmﬁmﬂmm#’? TR et g urban
A) Finance Commission B)Planning Commission ' e T
fareet T AT FrEET C)Improving the standards D) Helping th
) of scheduled castes ) o cl')r:rglgth € poorest
C) Agricultural Price D) Fiscal Commission e poor
Commission e 3T ma Ig(ﬂ:“ Sfoat & et 7 o wew ol
- iy Hoa AT TR st € werar S
112) Poverty in India is measured through one of the following 1;,) mggg;hf{gilo;’?g s;ates has (;’eceﬂﬂy launched the
iteria : yna for providi uali
crlten;. P s weaker sections at subsidised :!')ates‘l? Mok b
S & I ﬂmiamiai@a
Frfaf@a # ¥ e 5T & FAER a9 &
T ST 2
il & . gfear Fieer R &7 « 39y = F fv
A) number of rooms of the B)intakc of the calories arer 3 sl TS o U4E A 82
residence ey a@oT HTA
Sy 3 SR P HET A) Uttar Praiesh B) West Bengal
. 3o el qiReH &9
C) education level of the D) number of family
family members C)Madhya Pradesh D) Rajasthan
RarFdEeER  ARERE weed # AeT oA T
el 418) For Commercial Banks lending the Priority Sector
5ol inted by the: denotes:

413) The Attorney General of Indiais appoint )
m%aﬁ#mﬂﬁgﬁﬂmﬂ?aﬁmﬁaﬁﬁ WME@RTM&#%WWM
% Rrger TRaTa &2
A) Prime Minister B) Law Minister A) Self employed B) Small industrialists

qereAA fafer #4r = Aafad g IHT
C) President of India D) Home Minister C) Agriculture and Small  D)Small farmers
sRa ¥ Ueata Gl scale industries o frae
iy 3% g 3ET

114) Which of the following can Not act as a bleaching agent?

119) The toxic metal associated with the Minamata episode is:

rfataa # & ar falsis HfRHE T FIA TBL
aFaT? FATATET T & et R g I8 87
A)Nitrous oxide B) Sulpher dioxide A) cadmium B) ga_:r -
ATBEH HIFATSS e ST3- A3 Fsfaan (
C) Chlorine D) Hydrogen peroxide C) mercury D) arsenic
* R gTEENeTe RIFHSS e e
. . . I d
115) Which table in an operating system contains information | 120) The release of which of the follo\:vmg‘)mto ponds an
¢ e about all the open files? wells helps in controlling the mosquitoes’
FioRar st 3 vy efferept 3 Wt el wrgelt mﬁ#wmmgﬁﬁm
AT Tl 82 Feadt & fdaor & TS gar 87
? A) open-file table B) open-seck table A) Crab B) Dogfish
HITT- P ST - 2a ¥ Srarfmer
C)open table D) open-location table C) Snail B) Gambusia fish
el e AT et e e
N-2062/12371(10) ——
‘ -3 14 P.T.O
—0— .
CDain cout o< $ REB 1 *. : ~ s
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421) Sun Yat Sen was the leader of: :
125) Which one of the following states i T
A ard !FI' ﬁﬂﬁ? ﬁ?“- 9}? Spices' ? i knOWn as 'Ga:dm of

A) Taiping Rebellion B) Boxer Revolt Py # & T Tral 1 FTelt 1 sz
C)CPCParty * D)KMT Party A)Kerala B) Kamataka
cpcad KM T 9t Eas) Feiean
122) A biome is: C) Gujrat D) Tamil Nadu
e T 67 Ll BIREC
A) A group of plants B) A delimited area 126) ll:ﬂ(l)arwt:\dash?lls where the Buddhist monks worshipped were
growing in a particular T o
area L EWMETWW%W@E%W
ey ARRTSE 8T A 3T i A7
arer dtet & THE A) Chaityas B)Mathas
C)A complex of D)A collection of rare &= L
c:(})lmmléni-tie:?i . plants ;;ﬂ animals C) Viharas D) Stupas
characterised by L @
distinctive climate & e ) Lo &
vegetation ) agar Ak 127) Which of the following is a semiconductor :
RfRrse Serarg T ErtataE & & F 3 8
el _ bl A) silver B) copper
man  (FSC_FeRTY et e
123) The lens of the eye is behind the: C)glass [» silicon
i@ & A B 9 aag? Hd R
A) Pupil . B) Vitreous human 128) Milkiness observed on passing carbon dioxide through
e fagw A lime water is due to the formation of :
C)Retina . D)Optic nerve et il 7 FTe-SBHFSS 3 e WGl
W Jiffees 7 gty oot & RS AT €7
124) Which of the following income will not be included in A) Calcium carbonate B) Calcium chloride
national income calculation? / ¥Frordd Fraeic Fiowr A
PR & & R 3T P T 3 Sy ot A ) Calcium hydroxide D) Calcium bicarbonat®
QTR AT Teha ST ? s ETEEES a;f:emﬂarg-asra’fﬂ‘c
A) z:nirc:ge ofajokerina  B) Irlc'ome of a commercial 129) Blas sicity of demand of luxury goods is ¢
company artist ; pae %-q
RERE ey 1 eyt A A AT
SR E AR TG HeH _
kL1 P A) Less than one B) Infinite
C) Commission income of v : Gl
e e ome of a D)Individual's income from o D) More han one
' sale of shares C)Ze &
IR A FAAY RS RAAEE L) b
g
gfFaerd 3
L
l:Iillail*,r Go'vt ﬂ i *.
urrent - 55C Bank Railw ) d
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130) A system program designed to aid the programmer in
finding and correcting errors or bugs is known as:

STt 3N it Y Siep ey 3 WV A wgTAe o AT

ST 1T FACTH SN Y FT Fect 87
.~ A)Debugger B) Evaluator
ECO seque
C) Corrector D) Quarantiner
I FaRfEAT
131) Both the Tropic of Cancer and the Tropic of Capricon
»#  pass through:
i YT 3N AR T 2T e W AR § 7
A) South America B) Asia
gaofr AR ufdrar
C) Africa D) Australia
3nhreRT e
132) Who among the following built the Golden Temple at
Amritsar?
Rrfafad # ¥ frae e 7 Tl AfT swar
qn
A) Guru Gobind Singh B) Guru Teg Bahadur
1% TfdE e T[E 9T TEIGL
C) Guru Nanak D) Guru Arjun Dev
L 9% 3T &

133) Who has been elected as the new Secretary General of the

United Nations ?

ﬁwwmmmmﬁaﬂﬂgmmﬁ?

A) Antonio Guterras B) Ban Ki-moon
< gorfert FreT-r-FeT
! C) Lewis Hamilton D) Juan Manuel Santos
gsw fAeed FHTT A3 He

134) After a shower of rain, a rainbow is seen:
/ afr i ger F 4w, gtreIy el TS & &2

A) anywhere, irrespective of B)even in the absence of

the position of the sun the sun
e ofr, g r feufer T & 7 @ W
SE
C) towards the sun D) opposite the sun
g Srfeard © g fr favda far &

YO\ "ottt ot stercordt Bl A W

ARKARI <2LP

AR2017--4254610

W ¥ ; AT ST

135) Who decides
¢ about the size and i
Gl D ininlanos nd membership of the

AR & 3R ve geeaar & aR #F Ao aa
AT E?

-A) Lok Sabha B) Chairman of the Rajya
A =T Sabha
T AT & T
9 Prime Minister D) President
ERCrE gt

136) Varun Singh Bhati who won bronze at 2016 Rio
Paralympics Games is associated with which sports?

2016ﬁ3ﬁtmaifﬂ$@a‘fﬁaa‘h=rmshaﬁmm
e ——— v .
Wﬁ"gﬂﬂﬂﬁm@a#mm’?

A) Badminton B) Short Put
e e S o 5
C)High Jump D) Javelin Throw
S FFT Fafoe &
137) The maximum number of Mongol invasions took place
during the reign of :

sHRrier HINTOTS AT R QT ShIel 7 T2
A)Muhammad bin Tughlug B)Balban

¢ Frgewe e I era

C)Firoz Tughluq D) Alauddin Khilji
AT gaTersh szt et

138) Microsoft Excel is a
7 AT TR T 87

A) Graphics Package B)MS Office Package
e e MS Hifre 3T

C) Electronic Spreadsheet D) Financial Planning

’ st wse Package

e Aot dehst

139) In the Panchayat Raj System, "the Panchayat Samiti" is
constituted at the:

ﬁmﬂﬁtﬁm@ﬂﬁ“ﬁmﬁaﬁﬁ'ﬂmm
T 9T BT ST 87

A),State level g) District level
[ FT IEGIESL
C)Block level D) Village level
st T H T

0

I
F

YO\)E‘WH? et sneteorfl i@t H

ARKARI <2LP
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140) Participation is an important element of every :

gfaenfarar e Fecaaet aa &2

A) Aristocratic system B) Oligarchical system
Er i e S _ ey

c)Democratic syétem D) Monarchial system

4 RvacT CCES

141) The Kailasanatha Temple (Siva Temple) at Kanchipuram
containing sculptures with paintings in the inner wall, was

built by ?
Fivgee # demrery AR (R #AfR) e
siyaly Sart & G & AR T TS ¥, e

NI W - ATHIY Wy gy
146) Which one of the following gases releaseq )
) plantis used as a fuel gas ? from bio-gag

i AT $us W F T A B S 3

i A)Ethane

B)Butane

ERL A
C)Propane D) Methane

T < Hm

147) The title of ‘'Gangai Kondan' was adopted by the

following Chola King:
AR & RH e o Y e # e

FeTardn AT? TSR Hr 4
y ij B) Kari
A) Narasimhavarman B)Ravivarman A) Vijayalaya ) Karikala
d D) Devavarman C)Rajaraja [ B) Rajendra
C)Mahendravarman : ey
AaaH a @A R
" g Volt x Second is the unit of :
b 142) Element that is not fc;u;id in blood is: —_—_——coulomb
T ACT? )
T A dle-ar deT e s R T B
A) chromium 9) copper T
e e A) Inductance B) Resistance
C) magnesium D) iron SR SRR
AT J C) Capacitance D) Energy
K -
143) Govind Ballabh Pantm ATTESE mou 15 Situated in : e Fall
A AR S AN 15 2Ll & 149) Excretory organ of cockroch is:
A) Jharkhand B) Uttar Pradesh. T T ST 39T R BNl 67
FREs 3eeR ol A)Nephridia ~ B) Malpighian tubules
- C) Chhattisgarh D) Uttarakhand T Frerdrah ATerRT
BTG s C)Kidney D) Malpighian Corpuscles
- Hrerdrefy o
144) The teeth lacking in Herbivorous animals is: e
AT HET ST ﬁﬁﬂ-ﬁaﬁﬁmﬁﬁf%‘? 150) The number of players in a FB.E.SEI team is
- A B) Ganie e & 3 et Raerdt @ §2
" 15
T (2re) AR
A)8 B)6
F C) Incissor D)/Premolar D)o
5
e Tt s 4
145) Of the following, which one is non-contractual earning?
R o & vy smar /D
A)Pr r
)m:f t B dirterest. 7()\ Fenfl et stretenrfl @l A W
=) \ -
C)Rent ARKARI -2LP
R D) Wage
i e U A .
=H T
ij - $ 5% ﬁ. .
Cnalwt ssc gank  Railway _— S0k ] I darst ol gl sierort Redt &
urren - en00Ks - -
Affairs PCS Tma Sal‘I(aI‘IHelp.l:llm




